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(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
: 100kN/mM%Z#B 2 % - -~ - —|3mZiEZ D -~ - - — | 100kN/MZ#EZ % - -~ - —|3mZE#BZD -~ - - -
Zhllis 1.00( 0.00 ~ 6.73 85.04 | #hkist | 000 ~ 6.73 | 2.65 13.38 Zhls 1.00 | 500 ~ 11.00 85.04 [ #hLklst | 500 ~ 11.00 | 2.65 13.38
) 100kN/mM%Z#B % % - -~ - —|3mZEZ D -~ - - —| 100kN/mM%E#EZ % - -~ - —|3mZE#BZD -~ - - -
Zh s 1.00| 000 ~ 520 64.83 | #hllst | 000 ~ 000 1.70 8.59 FhnLs 1.00] 500 ~ 5.60 64.83 | FHllst | 500 ~ 560 1.70 8.59
3 100kN/mM%E#BZ % 1.00| 000 ~ 0.75 111.15 |3mZHE 25 -~ — — —| 100kN/m%#E%%| 1.00 |10.53 ~ 12.69 111.15 |3mZE#BZ 5 -~ — — .
Zh s 1.00| 075 ~ 853 100.00 | ZhList | 000 ~ 853 | 2.19 11.07 ZhList 1.00 ] 500 ~ 10.53 100.00 | Zhlist | 500 ~ 1269 2.19 11.07
4 100kN/m%#E2%5| 1.00| 000 ~ 0.75 11115 [3mZi#BZ 5 -~ — — —| 100kN/mi%i#82% | 1.00 [10.53 ~ 12.69 11115 |3m%Z#8BZ25 -~ - — —
Zh s 1.00 | 075 ~ 853 100.00 | ZhList | 000 ~ 853 | 2.19 11.07 ZFhLis 1.00 | 500 ~ 10.53 100.00 | Zhlist | 500 ~ 1269 2.19 11.07
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Zhust 1.00| 064 ~ 842 100.00 | #hbList | 000 ~ 842 2.33 11.76 ZhLst 1.00 | 500 ~ 10.89 100.00 | #hList | 500 ~ 1269 | 2.33 11.76
6 100kN/mM%E#BZ % 1.00| 000 ~ 0.63 109.39 |3m%E#BZ % -~ — — —| 100kN/m%#E%%| 1.00 |10.88 ~ 12.67 109.39 |3m%E#EZ 5 -~ - — .
ZhLs 1.00| 063 ~ 842 100.00 | ZhList | 000 ~ 842 | 2.32 11.75 Zhlist 1.00 ] 500 ~ 10.88 100.00 | Zhllst | 500 ~ 12.67 | 2.32 11.75
. 100kN/M%ZH#E2 % - -~ - —|3mZEEZ S -~ — — —| 100kN/M%E#E 2% — -~ — —|3mEHEZS -~ - - -
Zhrisn 1.00( 000 ~ 714 90.69 | ##list | 000 ~ 000 | 1.78 8.97 ZhLis 1.00 | 500 ~ 9.00 90.69 | =4LLust | 500 ~ 9.00 | 1.78 8.97
100kN/mM%Z#B % % ~ 3ImEHEZD ~ 100kN/mM%Z#BZ % ~ 3mEHEZD ~
Zhilst ~ Zhiis ~ Zhrist ~ Fhilst ~
100kN/mMZ#2 %% ~ ImEHREZD ~ 100kN/ %422 % ~ 3mEBAD ~
Zh st ~ Zhiis ~ Zhilst ~ Fhlist ~
100kN/mM%Z#E 2 % ~ 3ImEHEAD ~ 100kN/mMi%ZH#8Z % ~ ImERZD ~
ZhiList ~ Zhilsn ~ Zhiist ~ Zh Lot ~
100kN/M%Z#B 2 % ~ 3ImEHZD ~ 100kN/mM%ZH#BZ % ~ 3mZHBAD ~
ZhList ~ Fhiis ~ ZhList ~ zThhist ~
100kN/mMZ#8Z % ~ ImEFHEZD ~ 100kN/mM%Z#8Z % ~ 3mEEZAD ~
ZhiList ~ Fhiisn ~ ZhLst ~ Fhlist ~
100kN/M%Z#E 2 % ~ 3ImEHEZD ~ 100kN/mM%Z#BZ % ~ ImERZD ~
Zhis ~ Zhiis ~ Zhlis ~ ZThLlsh ~
100kN/mM%Z#B 2 % ~ 3mEHZD ~ 100kN/mM%Zi#BZ 5 ~ 3mZHBAb ~
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100kN/ Mm% %% ~ ImEHEZD ~ 100kN/mMZ#2Z.% ~ 3ImEEZD ~
Zh st ~ Zhiisn ~ Zhiist ~ zhList ~




